Answers to Additional Practice

DIRECTIONS: Choose the bast answer
1. Which group of decimals is ordered from least
to greatest?
A} 3.332.3.321,3.295. 3.287. 2.111
3424, 3.455, 5.33%, 3383 3212
3109, 3.107, 3,278, 3.229. 3.344
@ 3132 3.234,3.267, 3391, 3.405

IR

2, Which of the following is not equivalent to the

shaded portion of the figure?
S
N
%) z
— 6
~ 12
'H. ———
T 36

3. Cole and Jenny split a candy bar. Cole ate%
and Jenny ate :; Who ate more? Did they
eat the whole candy bar?

41 Coles, yes

Jenny, yes

Cole, "0

Jenny. no

6&)_ @) (»

4. It took Scott '; of an hour to got home, What

nonéa of these

is the decimal equivalent of :?
¥ o
& o036
W 20

5. Lucinda has $1.00 to buy pencils that cost 14
cents each. How many pencils can she buy?

(A; 14 percils
s 88 pencils

2
. 7 pencils
D) 114 pencils

6. The stakes in Jack's croquet set are 2 feet
long. He drove one stake 2 foot into the

ground. How much of the stake 18
above ground?

\
' 1=~ feet
&) 2 teet
-- 3
) 4 foot

J)  1ioot

7. Which of the following figures represents

a prime number?

Figure B
Figure A
Q Thay are ot prima.
%) Flgure A

(G higues 8
(D) Naither is praro

8. Write 26 as the product of its prima factors.

‘2.:13 QE
AN

s.‘l ':I

£X9

v
\

2X2x3%x3
2|3



8. What is the approximate area of this shape?

]

16 square unils
16 square units
20 square unlts

0
&
©
Q 28 sguare units
10, What is the area of thus circle?

0 A:Trri

B irches

G

)

18.84 |n2
ag in?

(H) 37881in2
& 304in?

o

—
& 1

.

304 x 3¢

J

11. What is the area of this parallelogram?
A=\ h

2m

am

@ snm?
c)
©)

|

12. Which of the following amounts is the

largest?
(F) 18 fluid ounces
@) 1pnt
' 3cups
£)) ; quart
12. 4 % gallons =
Q 18 quarts
) 20 quarts
C) 40 quars
) 80cups

14. What is the volume of this figure?

| 1
1
)
O 50 cubic units
@ 100 cubg units
H) 53 cubic units
(30 50 cublc unets

16, What is the volume of this figure?

Y=b= l'.""W

o

4o

7 2o

Som
10 om3
20 em3

S YO




18. Which of the figures below are congruent?

v = Q7

{F. BanaC
@& ~a2dC
(W BandD
& AandD

17. What is the diameter of the circle?

2inches

S inches

10 inches

31 4 inches
none of these

@ E )

18. What value does b have 10 make both

equations true?
b—-9=152x12 - b

oz
®

J)

-

19. In which of these is y equal to 97
A 1WiB=y
) y~17=8
y=8=17
8xy=17

l'\ﬂll)

-

i

DIRECTIONS: Choose the best answer. Use the bar

granh tor questons 20-21.

Number of People Attending

Baskelball Games in January
20,000 N =1
25.000
20000 | F
15000 | | i
12,000 t

5.000 ! i
]
Jon & Jan B Jan 11 Jan 12

20. How many more people attended the Jan. 6
game than the Jan. 12 game?

@
@
(H)

10,000 peaple
8,000 seople
5,000 poople
2,000 people

21. On one of the dates, a snowstorm prevented
many people from going to the game. On
which date did the storm occur?

© W=

Jan. 12
Jan. 4
Jan 14
Jan, &

22, The Spanish Club wants to buy a set of
instructional videos. Each video costs $12.50.
What information will they need to determine
how much money they must raise to buy the
entire set of videos?

('-':Q;- @) M@

the number of students in the scheol
now long @éach video is
the number of videos in the set

how many students there are in the
Spanish Cuo



23. An auto mechanic earns $19 an hour. She works = DIRECTIONS: A survay on favorte colors was taken 3t

B howrs a day, WhHich number sentenced shows | BOBa's SENGOl. The graph below Shaws the results
how to find how much she cams in a day? ! of the survey. Study the gragh. and then answer

A 10+8=«m | questians 26-27.

A ‘

a 19-8=9 |

g =9 | = 5 people

. IBx3d=u

s 19:8«8 i

24. Which of these number sentences would help
you find the total number of flags?

v ol - l. == 28. How many more students prefor the color red
i g Pv‘ m— S ! over yellow?
et — A — f (F) 4 swdents
Yoy & TRSE @ 12 stucents
S | @ 20stucents
¥ 5+3-@ | I 35 stuzents
G 5-3=™
@ 5+3= 27. How many students chose blue as their
W 5:3-1 favorite color?
‘a) B students
25. A waterproof jacket costs $48.95. The cold- (8 50 stucents
weather lining for the jucket is $22.50 and ‘ (L) 24 swoents
Gomstioy el s bt | @ A0mmen
the hat?
(A) $8520
@ 5245
©: $81.45
o) $6270



